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19  - 16 = 9 - 6 = 3

69
\/

10

16 - 14 = 6- 4 = 2

46
\/

10

14  - 12 = 4 - 2 = 2

24
\/

10

20  - 16 = 10 - 6 = 4

610
\/

10

17  - 14 = 7 - 4 = 3

47
\/

10

19  - 13 = 9 - 3 = 6

39
\/

10

20  - 13 = 10 - 3 = 7

310
\/

10

23
\/

10

18  - 15 = 8 - 5 = 3

58
\/

10

20  - 15 = 10 - 5 = 5

510
\/

10

15  - 12 = 5 - 2 = 3

25
\/

10

14  - 11 = 4 - 1 = 3

14
\/

10

20  - 18 = 10 - 8 = 2

810
\/
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13  - 12 = 3 - 2 = 1

12  - 11 = 2 - 1 = 1

12
\/

10

11  - 11 = 1 - 1 = 0

11
\/

10

20  - 17 = 10 - 7 = 3

710
\/

10

18  - 16 = 8 - 6 = 2

68
\/

10

17  - 15 = 7 - 5 = 2

57
\/

10

20  - 14 = 10 - 4= 6

410
\/

10

16  - 11 = 6 - 1 = 5

16
\/

10

15  - 13 = 5 - 3 = 2

35
\/

10

20  - 12 = 10 - 2 = 8

210
\/

10

14  - 13 = 4 - 3 = 1

34
\/

10

19  - 15 = 9 - 5 = 4

59
\/
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